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Kids Challenge! 
Did you find the word? 
It is “PRESENT”. 

Smart kids : 
1. Sravya Ainapurapu, St. Louis, Missouri. 
2. Mounica Raman, Southern California. 
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Salutation to your solution! 
- Answers 
1. The equations belong to a clock 
having hours marked from 1 to 12. 
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.M7�4�D�C4�D�	����"�C��� √(32 + 42) = √(9 
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E�N�O�P�!Q��F�%���,"�
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K"K"K"K"���*-#�����@A�� �$�B�*�#������2πr"���*-#������
R�	����HS�����@A�� �$�4�J�������� ��������
������:�
C����� ��*-#������ @A�� �$� B�*4�J�������� ���
�����
������(2r)"� ��*-#�����@A�� �$�
#�
 �$�	�4TU��J��B�*#������x�R�	���P�2πr x 

2r = 4πr2"�
�HS�����@A�� �$� �#����	�4TU��J�� 4πr2"�
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 �$�	�� 4TU��J����:�
�HS�����@A�� �$� �#����	�� 4TU��J������ ���
�����
������"�
�

E"�E"�E"�E"� ��*-#������ �����@	��� U�� ��4�D�� @A�� �$�
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������� &2r� C��� ������V'"�
��*-#������ �����@	��� U�� ��4�D�� R�	�����
4��������� H and h.� ��*-#������ �����@	���
U�� ��4�D�� �����#������
W������� �����
������:�
C�����πr2H =πr2h/3.�PX�H = h/3.� �4�D���
U�� ��4�D� R�	��� ��*-#������ R�	���� ��� ���*7���
�5%�,"�
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#�%���� (Figure) B����

2. If we split the cylinder along its curved 
surface, we can  see a rectangle as shown 
in the above figure B. The circumference 
becomes the width of the rectangle, which 
is 4m. The rope takes 4 turns, which 
means the rope is separated by 3m.  So the 
diagonal length is the length of each 
winding, which is √(32 + 42) = √(9 +16) = 
√25 = 5m. So the length of rope is 4 * 5 = 
20m. 

����

3. The circumference of base of Cylinder 
is 2πr. The height of cylinder is equal to  
diameter of the sphere, which is equal to 
the diameter of the base of cylinder (2r). 
So lateral surface area of cylinder is 
Circumference of base x Height of 
cylinder = 2πr x 2r = 4πr2. 
    Surface of a sphere is 4πr2. So lateral 
surface area of Cylinder is equal to the 
surface area of sphere. 
 
4. The diameter of both Cylinder and 
Cone are same (say 2r). Let us assume the 
Height of Cylinder and Cone are 
respectively H and h. Then volume is 
Cylinder and Cone are same means, πr2H 
=πr2h/3. which means H = h/3. So height 
of Cone is thrice the height of Cylinder. 
 
5. If the cow is tied in any one of the 
corners, then the reachable area is shown 

�
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2. If we split the cylinder along its curved
surface, we can see a rectangle as shown
in the above figure B. The circumference
becomes the width of the rectangle, which
is 4m. The rope takes 4 turns, which
means the rope is separated by 3m. So the
diagonal length is the length of each
winding, which is ÷(32 + 42) = ÷(9 +16) =
÷25 = 5m. So the length of rope is 4 * 5 =
20m.
�
3. The circumference of base of Cylinder
is 2pr. The height of cylinder is equal to
diameter of the sphere, which is equal to
the diameter of the base of cylinder (2r).
So lateral surface area of cylinder is
Circumference of base x Height of
cylinder = 2pr x 2r = 4pr2.
Surface of a sphere is 4pr2. So lateral
surface area of Cylinder is equal to the
surface area of sphere.
4. The diameter of both Cylinder and
Cone are same (say 2r). Let us assume the
Height of Cylinder and Cone are
respectively H and h. Then volume is
Cylinder and Cone are same means, pr2H
=pr2h/3. which means H = h/3. So height
of Cone is thrice the height of Cylinder.
5. If the cow is tied in any one of the
corners, then the reachable area is shown
�
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in Figure C. That area is πr2/4, i.e., 
(22/7)x72/4 = (22x49)/(7x4) = 38.5 sq.m. If 
the cow is tied in the center of the 
rectangular area, then it can cover the 
whole rectangular area as shown in Figure 
D. That area is 12x7 = 84 sq. m. 

  
-�)�����QFigure) C 

  
-�)�����QFigure) D 
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R"R"R"R"�  ���	� V̀�5����a� b�c,�.� ����"� �;=� �d����)��
6��	����� =��eB�� ���	� �̀�;f�V� g̀ a�hi����.�
CCjj�.� hi
���k�/	 È�:� �	���$��	� �d�E��:�
���(E��:� �������� 6��	������ =��eB�����
 ���	� �̀�;f�V�g̀ a�6��,E���]�V�	�lW���lW�hi����.�
CLRm�.� ���Z���"� CRno�.� �d�p-�%�� �E� ��
�����J+�� �d̀qM��P� ���r$�� 6��	����� Ti&�������.�
�d�E��� 6��	��������� Q6����� �������� �����J	���
g���� 6��	��������s�t0�A�V�ui� �	���, a�hi����.�
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4"4"4"4"� ��
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Question Gallery! 
We ourselves disclosing!! 
����

1. Gadhadharudu. 
2. Kallakuri Narayanarao. 
3. Qutub Minar is located in Delhi. 
    The first storey construction was 
started by Qutbuddin Aibak in 1199 
A.D. Later second, third, fourth 
storeys were constructed by his 
successer Illtutmish in 1230. The 
fourth storey was fallen due to 
lightening in 1368. Then Feroz Shah 
Tughlaq constructed Fourth and Fifth 
storeys instead of fallen Fourth 
storey in 1370. 
4. Draksharamam is located in East 
Godavari district, Andhra pradesh 
near Kakinada. 
5. The capital of the state Assam is 
Dispur. 
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in Figure C. That area is pr2/4, i.e.,
(22/7)x72/4 = (22x49)/(7x4) = 38.5 sq.m. If
the cow is tied in the center of the
rectangular area, then it can cover the
whole rectangular area as shown in Figure
D. That area is 12x7 = 84 sq. m.
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-�)�����QFigure) D
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 ���	�`�˛;f�V�g` a�6��,E���]�V�	�lW���lW�hi����.�
CLRm�.� ��˚Z�˛˚"� CRno�.� �d�p-�%�� �E� ��
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Question Gallery!
We ourselves disclosing!!
�
1. Gadhadharudu.
2. Kallakuri Narayanarao.
3. Qutub Minar is located in Delhi.
The first storey construction was
started by Qutbuddin Aibak in 1199
A.D. Later second, third, fourth
storeys were constructed by his
successer Illtutmish in 1230. The
fourth storey was fallen due to
lightening in 1368. Then Feroz Shah
Tughlaq constructed Fourth and Fifth
storeys instead of fallen Fourth
storey in 1370.
4. Draksharamam is located in East
Godavari district, Andhra pradesh
near Kakinada.
5. The capital of the state Assam is
Dispur.
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!"�!"�!"�!"�Barometer is the instrument used 
to measure atmospheric air pressure. 
Mercury barometer, Aneroid 
barometer are few examples.  
7. Varahamihira was an astronomer, 
mathematician and astrologer born in 
Ujjain. 
8. “Jana gana mana” is national 
anthem of India, written by the nobel 
laureate Rabindranath Tagore. 
9. Tanguturi Prakasam pantulu garu 
is know as Andhra Kesari (Lion of 
Andhra). 
10. The word ‘Tee’ is used in the 
Golf game.����
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!"� Barometer is the instrument used
to measure atmospheric air pressure.
Mercury barometer, Aneroid
barometer are few examples.
7. Varahamihira was an astronomer,
mathematician and astrologer born in
Ujjain.
8. “Jana gana mana” is national
anthem of India, written by the nobel
laureate Rabindranath Tagore.
9. Tanguturi Prakasam pantulu garu
is know as Andhra Kesari (Lion of
Andhra).
10. The word ‘Tee’ is used in the
Golf game.�
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